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OSPF: Rcv DBD from 10.100.1.2 on GigabitEthernet0/1 seqg 0x2124 opt 0x52 flag 0x2
len 1452 mtu 2000 state EXSTART
OSPF: Nbr 10.100.1.2 has larger interface MTU

CHE OSPF 2t E{0l= MTU 2000 QIE{mO|A 7} RU&LCH

OSPF: Rcv DBD from 10.100.100.1 on GigabitEthernet0/1 seq 0x89E opt 0x52 flag 0x7
len 32 mtu 1600 state EXCHANGE
OSPF: Nbr 10.100.100.1 has smaller interface MTU
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OSPF: Send DBD to 10.100.1.2 on GigabitEthernet0/1 seqg 0x9E6 opt 0x52 flag 0x7
len 32

OSPF: Retransmitting DBD to 10.100.1.2 on GigabitEthernet0/1 [10]

OSPF: Send DBD to 10.100.1.2 on GigabitEthernet0/1 seqg 0x9E6 opt 0x52 flag 0x7
len 32

OSPF: Retransmitting DBD to 10.100.1.2 on GigabitEthernetO/1 [11]
%$0SPF-5-ADJCHG: Process 1, Nbr 10.100.1.2 on GigabitEthernet0/1 from EXSTART to
DOWN, Neighbor Down: Too many retransmissions
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Rl#show ip ospf neighbor gigabitEthernet 0/1

Neighbor ID Pri State Dead Time Address Interface

10.100.1.2 0 FULL/ - 00:00:34 10.1.1.2 GigabitEthernet0/1

R2#show ip ospf neighbor gigabitEthernet 0/1

Neighbor ID Pri State Dead Time Address Interface

10.100.100.1 0 FULL/ - 00:00:34 10.1.1.1 GigabitEthernet0/1
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R2#show ip ospf neighbor gigabitEthernet 0/1

Neighbor ID Pri State Dead Time Address Interface
10.100.100.1 0 LOADING/ - 00:00:33 10.1.1.1 GigabitEthernet0/1

R2#show ip ospf neighbor gigabitEthernet 0/1 detail
Neighbor 10.100.100.1, interface address 10.1.1.1
In the area 0 via interface GigabitEthernet0/1
Neighbor priority is 0, State is LOADING, 5 state changes
DR is 0.0.0.0 BDR is 0.0.0.0
Options is 0x12 in Hello (E-bit L-bit )
Options is 0x52 in DBD (E-bit L-bit O-bit)
LLS Options is 0x1 (LR)
Dead timer due in 00:00:39
Neighbor is up for 00:00:49
Index 1/1, retransmission queue length 0, number of retransmission 0
First 0x0(0)/0x0(0) Next 0x0(0)/0x0(0)
Last retransmission scan length is 0, maximum is 0
Last retransmission scan time is 0 msec, maximum is 0 msec
Number of retransmissions for last link state request packet 9
Poll due in 00:00:00

R2#show ip ospf neighbor gigabitEthernet 0/1 detail
Neighbor 10.100.100.1, interface address 10.1.1.1
In the area 0 via interface GigabitEthernet0/1
Neighbor priority is 0, State is LOADING, 5 state changes
DR is 0.0.0.0 BDR is 0.0.0.0
Options is 0x12 in Hello (E-bit L-bit )
Options is 0x52 in DBD (E-bit L-bit O-bit)
LLS Options is 0x1 (LR)
Dead timer due in 00:00:33
Neighbor is up for 00:02:06
Index 1/1, retransmission queue length 0, number of retransmission 0
First 0x0(0)/0x0(0) Next 0x0(0)/0x0(0)
Last retransmission scan length is 0, maximum is 0
Last retransmission scan time is 0 msec, maximum is 0 msec
Number of retransmissions for last link state request packet 25
Poll due in 00:00:03

%0SPF-5-ADJCHG: Process 1, Nbr 10.100.100.1 on GigabitEthernet0/1 from LOADING
to DOWN, Neighbor Down: Too many retransmissions
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R1#
OSPF: rcv. v:2 t:3 1:1980 rid:10.100.1.2
aid:0.0.0.0 chk:AC5B aut:0 auk: from GigabitEthernet0/1
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R2#ping

Protocol [ip]:

Target IP address: 10.1.1.1

Repeat count [5]: 1

Datagram size [100]:

Timeout in seconds [2]:

Extended commands [n]: yes

Source address or interface:

Type of service [0]:

Set DF bit in IP header? [no]: yes

Validate reply data? [no]:

Data pattern [0xABCD]:

Loose, Strict, Record, Timestamp, Verbose[none]:
Sweep range of sizes [n]: yes

Sweep min size [36]: 1460

Sweep max size [18024]: 1540

Sweep interval [1]:

Type escape sequence to abort.

Sending 81, [1460..1540]-byte ICMP Echos to 10.1.1.1,
Packet sent with the DF bit set

timeout is 2 seconds:

Success rate is 49 percent (40/81), round-trip min/avg/max = 1/1/4 ms
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